
0$.,1*�$1�´$1'5(�528%2µ 
%22.67$1' 

$V� UHSRUWHG�
ILUVW� LQ� WKH�
$SULO� LVVXH�
RI� 6FXWWOH�
EXWW�� 0R�
'KDQR\D�
PDGH� WKH�
SURWRW\SH� RI�
DQ� $QGUH�
5RXER� IROG�
LQJ� ERRN�
VWDQG�� 

$QGUp� -DFRE� 5RXER� �����–������ ZDV� D�
)UHQFK�FDUSHQWHU��FDELQHWPDNHU�DQG�DXWKRU�� 
5RXER¶V�FDUHHU�SHDNHG� LQ������ZKHQ�KH�SXE�
OLVKHG�KLV�PDVWHUZRUN�WUHDWLVH�RQ�ZRRGZRUNLQJ��
WLWOHG� /
$UW� GX� 0HQXLVLHU�� 7KLV� ORQJ-VWDQGLQJ�
ZRUN�FRYHUHG�SUDFWLFDOO\�DOO�PHWKRGV�DQG�WUDGHV�
DVVRFLDWHG�ZLWK�ZRRGZRUNLQJ�� 
'HVLJQHG�FHQWXULHV�DJR�� WKH�5RXER�ERRNVWDQG�
LV� FDUYHG� IURP� D� VLQJOH� ERDUG�� IHDWXULQJ� D�
FDUYHG� KLQJH�PDNLQJ� LW� DSSHDU� DV� WKRXJK� WZR�
ERDUGV�ZHUH�LQWHUORFNHG�E\�PDJLF�� 
 
0R� LV� QRZ� PDNLQJ� WKH�
UHDO� WKLQJ� ZLWK� D� 6LNK�
GHFRUDWLYH� GHVLJQ� �D�
.KDQGD�� WKH� V\PERO� RI�
WKH� 6LNK� IDLWK�� HQ�
JUDYHG�RQ�WKH�IDFH� 
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